Kerry Ojakian’s MTH 28.5 Class
Class Assignment #21

1. 25+ 422 =

2. 75m3 4+ 12m =

3. y> —25=

4. 25 —y? =

5. p? 4+ 11p + 30 =

6. a® + 9a® =

7. a® —9a3 =

8. 4x? + 40z + 84 =

9. 12ab — 6a + 10b — 5 =

10. 4> — 5y +6 =

11. 20?2 4+ 13n —7 =

12. 4%y — 322%y =



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

THh? +Th — 42 =

3642 — 100 =

3622y + 152y — 6y =

—11 — 10z + 22 =
6n —7+n*=
8r?2 —9r —3 =

162% — 24zy + 9y? — 64 =

9+ 30z + 2522 =

49b% — 1120 + 64 =

7523 + 122 =

xt—81 =

3zt — 48 =



